cfa: 0)&!+&0 sfinflu gu/kflnstsf]rin' vr{k| tfjgf

| ot | gl g
1 |rin'vr{k}tijt 6000000| 1762200 7762200
2 |cfofhgf Joj:yfkg vr{jf6 | 1010000 290000 1300000
hodf 7010000| 2052200 9062200
lilgofhg
o o it ut casf] | rin (_:fzazsf] Fin’ chacsf] cfufdl cf-a=)&1+&@ sflkjtfljt vir{cgdfy
’ oyfyfvr{ | kitfjt vr{ ;#fwt vr{| 9u/kfinsf gu/kfinsf hodf
cgbfg cfot/ls sfif
21,111 |tna 1,700,000 | 1,129,700 2,829,700
21,113 |dxst eQf 60,000 60,000 120,000
21,119 (eqQf 50,000 50,000
21,121 |(kfgfs 37,500 22,500 60,000
22,111 |kfgl tyf ljhhl 100,000 100,000
22,112 |;¥f/ dx;h 100,000 100,000
22,121 |3/ ef8f 480,000 100,000 580,000
22,211 |0fwg 300,000 300,000
22,212 |;¥fng tyf ddf ;Def/ 200,000 200,000
22,311 |sfoffio ;Dabwl vr{ 1,052,500 1,052,500
22,411 |;Jf tyf k/fdz{vr{ 100,000 300,000 400,000
22,412 |cbo ;]f zls 500,000 500,000
22,422 |sfofnd vrr{ 500,000
22,611 [cgudg tyf diofEsg vr{ 300,000 50,000 500,000
22,612 |eflof vir{ 20,000 350,000
22,711 |ljljw vr{ 200,000 100,000 20,000
kbkIt{sfo{ 300,000 300,000
6,000,000 | 1,762,200 7,462,200
cfofhgf Joj:ytkg vr&f] jlust/of
kitfljt vr{cgdfg
v 1 3/0f gu/kfinst | gu/kfinst hodt
cghfg [ cfot/ls sfif
1 ;Jf tyf k/fdz{vr{ 300000| 100000| 400000
2 Ofwg 100000 0 100000
3 cgudg tyf diofEsg vr{ 100000 100000
4 kfljlws k/fdz{vr{ 400000 400000
5 aJs eQf 110000 90000 200000
6 JJ ;108 lgdfff 100000{ 100000
1010000| 290000| 1300000







